1.  What was the most significant economic impact

of the transcontinental railroads during the late

1800s?

(1) eliminating overseas trade with Europe

(2) expanding interstate commerce nationwide

(3) decreasing the influence of big business

(4) rapid rebuilding of the South after the Civil

War
2. In the late 1800s, rapid urbanization was mainly

the result of the

(1) shortage of land for new farms

(2) federally funded city redevelopment projects

(3) impact of industrialization

(4) migration of formerly enslaved persons to

the West
3.
What was an immediate economic result of the use of mass-production techniques in American factories?

(1) increased use of homemade goods

(2) reduced cost of goods

(3) improved safety conditions

(4) expanding membership in labor unions

 4.
A feature that is unique to a free-enterprise

economic system is

(1) government ownership of most companies

(2) strict government regulation of business

(3) private ownership of the means of

production

(4) wages and prices set by the government
5.
Which heading best completes the partial outline below?

I. ____________________________________

A. Workers face hardships

B. Labor reforms are developed

C. Towns and cities grow

D. Giant corporations are created

(1) Government Ends Regulation of Business

(2) Progressive Movement Changes American

Lives

(3) American Citizens Get New Responsibilities

(4) United States Becomes an Industrial Nation

6.
In the period from 1890 to 1910, most

immigrants from eastern and southern Europe

settled in large cities of the eastern United States

primarily because

(1) farmland had become very scarce

(2) factory jobs were available for unskilled

workers

(3) there was much less discrimination in those

cities

(4) they came mainly from large cities in their

home countries
7.
Most people purchase shares of stock in a corporation in order to

(1) influence corporate decisionmaking

(2) share in corporate profits

(3) improve working conditions for the corporation’s

employees

(4) determine the products the corporation sells

8.
A characteristic of the free-enterprise system is

that

(1) stockholders are guaranteed a profit

(2) governments control product choices

(3) foreign trade is discouraged

(4) businesses compete for consumer dollars

9.
One reason John D. Rockefeller, Andrew Carnegie and J. Pierpont Morgan were called robber barons was because they:
Stole money from the federal government.
Made risky and unsafe investments.
Used ruthless business practices to eliminate their competition.
Robbed from the rich and gave to the poor. 
10.
In the 19th century, tariffs, subsidies for railroads and open immigration showed that the federal government followed a policy of:
Supporting economic development.
Non-interference in the free-market system.
Regulating unfair business practices.
Supporting organized labor. 
11.
What was a major effect of the Agricultural Revolution on the United States during the late 1800s?
Unemployed factory workers could find jobs in agriculture.
Food supplies were increased to feed the people in the cities.
Food supplies were decreased to feed the people in the cities.
The size of farms decreased in area

12.
Which statement describes a result of the Industrial Revolution in the United States?
Immigration to the United States increased.
Slavery in the South returned.
The population of American cities decreased.
Farm production decreased. 
13.
What was the main benefit for labor unions of the late 1800s gained for their members?
Health insurance
Job security
Better wages and shorter hours
Paid vacations 
14.
During the late 1800s, business leaders formed trusts mainly to:
Increase prices
Eliminate competition
Improve productivity
Establish overseas factories 
15.
During the late 1800s, a major reason labor unions had difficulty achieving their goals was that:
Business promoted labor officials to management.
There was a shortage of new workers.
Government supported management over labor.
Industrialization created better working conditions. 
16.
Why did the United States follow a policy of open immigration during the second half of the 19th Century?
The United States needed unskilled labor to work in the factories.
Many American citizens wanted to live in European nations.
Prosperous conditions in Europe resulted in fewer immigrants arriving to the United States.
Immigrants provided United States industry with investment capital. 
17.
Mark Twain labeled the late 1800s in the United States the “Gilded Age” to describe the:
Achievements of the labor movement.
Extremes of wealth and poverty.
End of slavery.
Absence of war in the world.
18.
The term robber barons was used to criticize the:
Unskilled labor of legal immigrants.
Dishonesty of carpetbaggers.
Corruption of government officials.
Practices of big business leaders. 
19.
What major trend related to population occurred during the industrialization boom of the late 1800s?
People moving to the suburbs increased.
Immigration decreased.
The number of people who lived in the cities increased.
Migration to the farms increased. 
20.
During the late 1800s, what was the main reason labor unions had difficulty achieving gains for their workers?
Communists began to control the labor unions.
Most unions were organized by big business.
Most workers were satisfied with their working conditions.
The government supported big business and their attempts to end unions. 
21.
The growth of big business in the late 1800s resulted in:
An increase in child labor.
The widening of the economic gap between the wealthiest and poorest Americans.
The elimination of the middle class.
A shift in transportation investment  from railroads to horse and wagon.
22.
After 1880, a major new source of labor for American factories was:
Immigrants from Eastern and Southern Europe.
Young women who worked until marriage.
Western farmers.
Ex-slaves. 
23.
During the late 1800s, the principles of Social Darwinism were used to justify:
The accumulation of wealth by industrialists.
Desegregation of public facilities.
The use of strikes.
Unlimited immigration. 
24.
Many wealthy American industrialists of the late 19th Century used the theory of Social Darwinism to:

a) Support the labor movement

b) Justify the use of monopolies

c) Promote the idea of a national minimum wage

d) Encourage charity to help the poor

25.
According to the theory of laissez faire, the economy functions the best when the government:

a) Helps to sponsor the businesses abilities to compete worldwide.

b) Regulates business for the good of the majority.

c) Own major industries in the United States.

d) Does not interfere or regulate business.

26.
The American Federation of Labor became the first long-lasting, successful labor union in the United States because it:

a) Refused to participate in strikes against employers.

b) Concentrated on organizing workers in industries in the South.

c) Formed its own political party and elected pro-labor public officials.

d) Fought for the rights of skilled workers.

27.
Industrialists of the late 1800s contributed most to economic growth by:

a) Supporting the efforts of labor unions.

b) Establishing large corporations.

c) Encouraging government ownership of the banks.

d) Opposing protective tariffs.

28.
Why did the United States follow a policy of unrestricted immigration for Europeans during the late 1800s?

a) Business and industry depended on the foreign money brought by immigrants.

b) The American economy needed unskilled workers.

c) Many Americans desired a more diverse culture.

d) The US wanted to do the nations of Europe a favor by taking in their surplus population.

29.
Which situation brought about the rapid growth of industry between 1865 and 1900?

a) High worker morale resulting from good pay and working conditions.

b) The availability of investment capital.

c) Establishment of the reservations for Native Americans.

d) Decline in the number of people attending schools.

30.
During the late 1800s, a major response to the activities of labor unions in the United States was that:

a) The press in many American cities supported the labor union movement.

b) United States Presidents opposed the use of Federal troops to end strikes called by labor unions.

c) Courts passed laws and injunctions to stop strikes by unions.

d) Most factory workers joined unions.

31.
In response to the demands of farmers and small business owners, Congress passed laws that:

a) Supported the organization of farm cooperatives.

b) Regulated the activities of railroads and trusts.

c) Provided direct payments to farmers to help them buy machinery.

d) Dropped the tariff rates to the lowest rates in our history.

32.
Which term best describes the economic policy of the US in the years following the Civil War?

a) Laissez-faire capitalism

b) Mercantilism

c) Marxism

d) Welfare-state capitalism

33.
After the Civil War, one way business tried to eliminate competition was by:

a) Forming monopolies, pools and trusts.

b) Developing overseas markets.

c) Increasing the prices of their products.

d) Paying higher wages to their workers.

34.
In the 19th Century, the major national labor unions wanted to improve the position of workers mainly by:

a) Getting the right to organize and bargain collectively with management.

b) Using government troops to settle labor disputes with management.

c) Supporting government ownership of major industries.

d) Endorsing and giving support to third parties in elections.

35.
“Labor Leaders Executed for Causing Haymarket Riot”, “State Militia Called In To End Homestead Strike”, “1,000 Jailed as Silver Miners Protest Wage Cuts”. Which statement about labor unions in the late 1800s is shown by the headlines?

a) Strikes by labor unions gained little support.

b) The government opposes labor disputes.

c) Labor unions demands were usually met.

d) Arbitration was a way to end labor unrest.

36.
One factor that furthered industrialization in the United States between 1865 and 1900 was the:

a) Development of the airplane.

b) Expansion and growth of the railroads.

c) Mass production of the automobile.

d) Widespread use of the steamboats.

37.
The term business monopoly can be best described as:

a) The most common form of business in the United States.

b) Government controls the means of production.

c) An agreement between partners to manage a corporation.

d) A company that controls or dominates an industry.

38.
During the late 1800s, Samuel Gompers, Eugene Debs and Terence Powderly were leaders in the movement to:

a) Stop the racial segregation of Native American Indians.

b) Limit illegal immigration.

c) Gain fair treatment for ex-slaves.

d) Improve working conditions for American labor.

39.
One reason John Rockefeller, Andrew Carnegie and J.P. Morgan were called robber barons was because they:

a) Robbed from the rich and gave to the poor.

b) Made unnecessarily risky investments.

c) Used ruthless business practices against their competitors.

d) Stole money from the government.

40.
Which statement describes a result of the Industrial Revolution in the United States?

a) Farm production decreased.

b) Slavery in the South increased.

c) The populations of American cities decreased.

d) Immigration to the United States increased.

41.
Laws requiring individuals to pass civil service examinations to obtain government jobs were passed because:

a) It would eliminate patronage, the spoils system and corruption in government hiring.

b) It  allowed the government to compete with private industry for employees.

c) It supported the growth of labor unions.

d) It encouraged the growth of political parties.

42.
In the decades after the Civil War, the result of the shift from single ownership/partner ownership businesses to corporations was that corporations were able to:

a) Make more efficient use of natural resources.

b) Concentrate on improving the quality of manufactured work.

c) Provide workers with higher wages.

d) Raise large sums of money through stocks.

43.
During the period between 1865 and 1900, disputes between workers and management was often marked by:

a) The use of violence by both sides.

b) Cooperative efforts to resolve differences.

c) Government support of striking workers.

d) Negotiations with the Federal government.

44.
During the second half of the 1800s, the government commitment to the principles of laissez-faire capitalism contributed to:

a) Healthy and positive competition between businesses.

b) The growth of small business.

c) Friendly working conditions between labor and management.

d) Economic domination by business trusts.

45.
Statement A: “The best way to economic recovery is to help industry so that it will hire more workers and expand production.”

Statement B: “If jobs are not available, the government must create jobs for those who are unemployed.”

Statement C: “According to human nature, the most talented people will always come out on top.”

Statement D: “Our government is responsible for the nation’s economic well-being”

Which statement is closest to the definition of Social Darwinism?

a) Speaker A

b) Speaker B

c) Speaker C

d) Speaker D

46.
From 1865 to 1900, how did the growth of industry affect American society?

a) The United States experienced a growth in agriculture.

b) Population centers in the United States shifted from the northeast to the south.

c) Restrictions on immigration created a more homogeneous culture.

d) The percentage of Americans living in the cities increased.

47.
In the United States, industrial unions of the late 1800s and the late 1980s had similar goals in the both wanted:

a) National health insurance

b) Better unemployment insurance

c) Greater job security and higher wages

d) Wage and price freezes

48.
A negative effect of mergers, pools and trusts on the United States during the late 1800s was that these combinations:

a) Reduced the need for labor.

b) Encouraged the government to spend more than it took in taxes.

c) Decreased competition between businesses.

d) Ended the United States participation in international trade.

49.
In the late 1800s, the principles of Social

Darwinism were most consistent with the ideas of

(1) Populism

(2) laissez-faire economics

(3) trustbusting

(4) utopian socialism
50.
During the last quarter of the 19th century, large

numbers of immigrants were admitted to the

United States primarily because of the economy’s

need for more

(1) skilled craftsmen

(2) educated professionals

(3) unskilled factory workers

(4) scientists and technicians

51.
During the late 1800s, which group strongly

supported an open immigration policy?

(1) conservationists (3) factory owners

(2) nativists (4) southern farmers

52.
The theory of Social Darwinism was often used to

justify the

(1) creation of the Ku Klux Klan

(2) formation of business monopolies

(3) use of strikes by labor unions

(4) passage of antitrust laws

53.
In the late 1800s, the creation of the Standard Oil

Trust by John D. Rockefeller was intended to

(1) protect small, independent oil firms

(2) control prices and practices in the oil refining

business

(3) increase competition among oil refining

companies

(4) distribute donations to charitable causes

54.
After 1880, a major new source of labor for

American factories was

(1) western farmers who moved back to eastern

cities

(2) young women who worked until they married

(3) formerly enslaved persons fleeing from the

South

(4) immigrants from southern and eastern

Europe

55.
During the 19th century, the completion of the

Erie Canal and the transcontinental railroads

contributed to the industrial growth of the

United States by

(1) making the movement of goods easier and

cheaper

(2) protecting the United States from low-priced

foreign imports

(3) encouraging subsistence farming

(4) connecting the United States to markets in

Mexico and Canada

56.
During the late 1800s, the principles of Social

Darwinism were used to justify

(1) support for unlimited immigration

(2) desegregation of public facilities

(3) the use of strikes by organized labor

(4) the accumulation of great wealth by

Industrialists

57.
“The growth of a large business is merely survival

of the fittest. The American beauty rose can be

produced in the splendor and fragrance which

bring cheer to its beholder only by sacrificing the

early buds which grow up around it. This is not

an evil tendency in business. It is merely the

working out of a law of nature and a law of God.

. . .”

— John D. Rockefeller, Jr.

Which concept is described by this passage?

(1) communism

(2) Populism

(3) utopian socialism

(4) Social Darwinism

58.
The growth of big business in the late 1800s

resulted in

(1) a reduction in child labor

(2) the elimination of the middle class

(3) the widening of the economic gap between

rich and poor

(4) a shift in transportation investment from

railroads to canals

59.
Which major population shift in the late 1800s

occurred as a result of industrialization?

(1) northerners to the Sun Belt

(2) rural residents to urban areas

(3) working class people from the cities to the

suburbs

(4) African Americans from the North to the

South
59.
Business leaders John D. Rockefeller, J. P.

Morgan, and Cornelius Vanderbilt were referred

to as robber barons primarily because they

(1) bought titles of nobility from foreign

governments

(2) were ruthless in dealing with competitors

(3) stole money from state and local governments

(4) gained all of their wealth by illegal means

60.
During the late 1800s, what was the main reason

labor unions had difficulty achieving gains for

workers?

(1) Communists had taken control of the major

unions.

(2) The government supported business efforts

to limit the powers of unions.

(3) Most unions had been organized by big

business.

(4) Most workers were satisfied with working

conditions
61.
During the late 1800s, the defenders of Social

Darwinism would most likely have supported

(1) labor unions

(2) progressive income taxes

(3) laissez-faire capitalism

(4) environmental conservation

Base your answers to questions 62 and 63 on the

passage below and on your knowledge of social studies.

“. . . This, then, is held to be the duty of the man

of Wealth: First, to set an example of modest,

unostentatious living, shunning display or

extravagance; to provide moderately for the

legitimate wants of those dependent upon him;

and after doing so to consider all surplus revenues

which come to him simply as trust funds, which he

is called upon to administer, and strictly bound as

a matter of duty to administer in the manner

which, in his judgment, is best calculated to

produce the most beneficial results for the

community— . . .”

— Andrew Carnegie, “Wealth,” North American

Review, June 1889

62.
According to this passage, the responsibility of

the wealthy is to

(1) invest in future industry to increase wealth

(2) share their excess wealth with the community

(3) maintain a lifestyle consistent with their

wealth

(4) influence government to assist all people

63.
Andrew Carnegie carried out the ideas expressed

in this statement by

(1) funding numerous libraries and educational

institutions

(2) serving many years in the federal government

(3) investing his fortune in several new industries

(4) promoting programs to benefit the wealthy
64.
In the last half of the 1800s, which development

led to the other three?

(1) expansion of the middle class

(2) growth of industrialization

(3) formation of trusts

(4) creation of labor unions
